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No =B £ By B & fm &
T RIS (REWNRBHEEEY) 1 =® 295,000
3 |[B#-K—RI= (RERERBBHEEEY) 1 =® 967,800
4 SIS (REWNRBHEEEY) 1 =® 787,500
5 |HNE-EETH (RHENERAEEEY) 1 = 901,600
6 |REHHRIE (RHENERAMEEEY) 1 = 769,000
7 |BRREIE (RHENERAEEEY) 1 = 389,600
8 |#aHbKERIETE (RERNRAHEEBEY) 1 =® 604,300
9 |[BmRREIE (RENERAEEEY) 1 = 243,000
10 |ZMREIE (RHENERAMEEEY) 1 = 669,000
11 |BERETSE (RERRAHEEEY) 1 K 600,000
12 | BB RUEER 1 = 100,000
13 |SH#gs GRHEE HIR-EEE) 1 = 600,000

AN & 6,926,800

XAEEA BRTIEEAIEHNETT,

MA—TA BB DA T BRERR T,

MEFaUT—RIEEIBIETS,

HiEEE A 126,800

N & 6,800,000

BB 8% 544,000

& &t 7,344,000




AR E

NO B Tk HE B Effh iy 1 fm &
1 |REI=
DB L 1 = 25,000
BT EE{RRME L) 1 = 20,000
RE%47 - 215 AT 1 = 20,000
BRAICHRISE 1 = 60,000
(REE: THERGHREBLED| 1 = 10,000
{RERHE7K " 1 = 10,000
TEPREBRMLAE BRI 1 =) 90,000
BlEELOY—=20 1 = 60,000
> : 295,000




NO 2R ne By B ok fm &

2 |EB#HK—RIE
B EIVEE Fith LGS GWt50+PB12.5X2+i % —hx2 D=65 30 m 11,000 330,000
BE T ith LGS PB12.5X1 D=45 12 m 3,500 42,000
X T LGS PB12.5X2+#ZF—h D=20 20 m 6,200 124,000
X# i LGS PB9.5XI D=20 17 m 3,400 57,800
E23E Fith LGS PB12.5XX2 D=65 12 m 5,200 294,000
B O 43R 5 hFR 7,000 35,000
HEELI—F— 2=V iEE 1 = 25,000
BAMIE 1 = 60,000
& F 967,800
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NO 2R T HE | Hf Eififh ok fm &
4  [EFI=E
Yotk 1 = 80,000
B AR 2+ EE T vh+/S—F £)VBt20+GW H=200 26 m 12,500 325,000
B ARt 2+/5—F 2)LBt20 H=200 15 m 6,500 97,500
PR AAE 1 = 60,000
RHuH 1 = 40,000
RFHEL 35 m 1,500 52,500
mA BRSL & 45 m 1,500 67,500
REHIE 1 = 45,000
S IR T8 1 = 100,000

787,500




NO 2R ne By B ok fm &

S |NE-EBETEH
JORTHEEE 94 m 1,600 150,400
JORTEXRH 43 m 1,600 68,800
B FRRES=FREA) 26 m 4,900 127,400
B FRI RS ar g4 15 m 3,800 57,000
/YRy 1 = 25,000
ZRTIE ZAEE AEP-CL 1 = 45,000
AL FiRBRUEE 1 = 18,000
BiE R BFAY 3 * 98,000 294,000
hMLE BB S (L HEAR 1 * 45,000
BEA(V UG LA AR 1 * 26,000
R TE 1 = 45,000
& & 901,600
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B T HE | Hf Eififh ok fm &
REMSBTE
AV—LYTT— 277UyY 1 =) 180,000
BV —LYT7— " 1 =) 150,000
CV—LYTT— " 1 = 140,000
TN 600x600X500 A3y 7 =) 22,000 154,000
A RE B 1 = 45,000
ML EHATZ S — 900X400X800 " 1 =) 85,000
% Huft it 1 HFR 15,000
2 : 769,000




B Tk HE By B ok fm &
ERRMEIE

RS E=EH DL LED 10 X7 4,500 45,000

" B ML DL " 8 X7 3,000 24,000
BRI TE 1 ] 70,000
B3 A ERER 1 = 60,000
RUARRTIE 18 R 2,800 50,400
T 540 18 HFR 900 16,200
FRRA - AR EA - Anft T8 18 hFR 2,200 39,600
BMERERLE 1 = 12,000
2T 6 HFR 1,900 11,400
ERI b 10 HFR 4,100 41,000
HEMTE 1 = 20,000

XKEANZRIBIRTY,

KNS ATHRHE=S—.FTEILRETT,

389,600




AR E

NO B¥R Tk HE 1 E{f g s &
8 |#HEkHREIE
WwHKKIE HHE MEEHEHIECE BT -EEH 15A.20A 1 o 85,000
HIHE 1 oM 120,000
BRURKES RES12A 1 =) 59,000
FEER CS670B.SHG671BA 1 H 125,000
T 610-211 1 & 5,500
SLEER ho54 1 #H 55,000
AN =N 1 & 9,800
TR HEKE+EELESYLN—N\RIL A501-13-T221+PR23F 4 DALz 7,500 30,000
HEEETLSE ¥aHkEk 1 = 20,000
HIEE 1 oM 85,000
MiEER 1 = 10,000
= 604,300




AR E

B T HE | Hf Eififh ok fm &
BERHELE
BMEAXHE VD-18ZX10-C 2 =) 22,000 44,000
HBERAXAR BF-14S3 2 =) 16,500 33,000
HES b 1509 1 = 50,000
T 1 = 8,000
F4>/S—BOX 250%250 2 =) 8,000 16,000
#ISOHS 250%250 2 =) 6,000 12,000
FALREIS 1 = 75,000
HIEMM 1 =® 5,000
& 243,000




iR B
NO 2R T HE | Hf Eififh ok fm &
10 [ZHR&ELE
TR =F M 4 vk 82,000 328,000
ZRNERETS 4 =) 20,000 80,000
AREE M 1 = 120,000
RELSE 1 = 50,000
KL>I=® 1 = 40,000
HEREHARE 4 Fif 8,000 32,000
MRS 1 = 19,000
& 3 669,000
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Tk HE By B ok s &
HERELE

i PR 900x450x800 1 & 114,000
Bk 390x450x800 1M-25M-1 1 =) 375,000
F—TNREARS 3~ R 1200X450%x800 RTS-120STB2 1 & 259,000
F—TNEARRE 1200x450x800 RT-120MTF 1 =) 410,000
e n—18 ot 850x450X600 1 & 85,000
ialaki] 900x300X600 1 =) 83,000
(GEUP Sy 1 = 30,000
ARSI 1 = 150,000
B 1 = 36,000
e 1,542,000
HiEEIE A 942,000

600,000






